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Determine m if OAS 13 1 Al aa

3
_,I' dx——tan‘*-i—c. o f Y _dx=-tan ix* + ¢
1+x™ 1+x™ 4
Where m = 0 an 0 Saa
3 m=4 C. m=8

b, m=2 g m=6



Evaluate the integral ff xInxdx. .ffxlnx dx Jalsill dud daf
2 1 2
a. x*Inx| —J 2tdx c. X—|3 —f Inxdx
1 . x ;
1 1 1 21
b. E-‘-‘2 In x|} +§xﬁ d. EIZ Inx|3 —L Exdx



' Xy

The differential equation Jeadll 4B Y = e AL\ Al
;XY . . . .
y = TiaZ 5 separable. Find the At dgeay alal) Jall dagf
general solution in an explicit form.
2
5 y=xz+1+c C. y:eluyx +1+e

b y = eln|x2+1|+c d ¥Y= lnlxz e ll tc



Identify the integral for the surface

area of the surface of revelution for
the shape described by

¥ =+vx, 1 < x < 2, revolved about

the x—-axis.

4 1
a. S=2n’f 1+—dx
1 4x
2 1
b. S=2n‘j Vx |1+ —dx
1 4x

O 558 A S g2l mlacdd) daleaad LS a
Jip sl £ x <2 &y = Vx o
WX JM

2
1
. S=J;&‘1+de

2
d. S=2rrj Vx1 + xdx
1



A force of 10 Ib stretches a spring
6 in from its natural length. Find the
work dene in stretching this spring
9 in beyond its natural length

(Lft = 12 in).

a. W=151flb

b. w=1§—S ft-1b

(4 6in b 213 10 Ib e 38 liaal
138 303 & Jplaalh Juld dagl .l algh
el algh 6 3 9 in il

{1ft =12 in)
45
c. W= ftlb
15

d. W=—-fb



A diver drops from 120 ft above the plall (352 120 ft g la5)) (o ulled ol

water (about the height La (L) el dsal Y1 pubial) duaia i)
of an Olympic platform dive). What Splabady) Abiad gullall dgaiall Ayl
is the diver's velocity at impact? (32 ft/sec? dyila =td)

(gravitatianal constant 32 ft/secz).

15
a. —32ft/sec c. —32 l? ft/sec
’15
b. e ft/sec d. 120ft/sec



7
- Find the arc length of the curve paiall a giad (g sk gl

yztanxforﬂing. .OSxSE.yz*tanx

w =
£ i

a. S=f v1+sectxdx G 5=j v1+sec?xdx
a 0

n

5 T
b. s=J‘4(I + sec* x)dx d. 5=ﬂf v1+tan®xdx
0

0



Evaluate the integral [ ¢?™™* dx. [ 2T dx Jalsill dad 2ol
2 x3
& —
a. Mlev[+ec C. F+e

h. 34 d. Inle*|+¢



1 _ A, BxiC

If =
xd+4x x x2+4'

what is the value of | xsi‘h dx?

3. Inlx] + |x*+4|+¢

b, olxl—ln|x® +4|+c

1

x3+4x a x xZ+4

&

d.

A BxiC

ol iy

1 - =
e
: I13+4:d1'4-l=ﬂ1..

Inlxz + 4| - iin!xl +c

1 1
o - =1
4lnlx1+8tan x+c



Evaluate the integral [ x*Vx — 1dx.  xPVx — 1dx Jalsal dad aagl
2 4 2 - Y O 2
a. ;J(x—1)’+§J(x-1)5+5v(x-1)3+c C. —7—\/(;\:—1)+§\/(x—1)5+§ (x—1)+¢

4 4 2
b, Ja-1D7+Jx-1)5+/(x-1)8%+c¢ d. ;(x—1)7+§(x—1)5+§(x—1)3+c



Evaluate the integral

mw

jo}]
N -

3
[ (sin? x — cos? x) dx.
o

A A aagf

3
J' (sin® x — cos® x) dx
)



Find the area bounded by the S G 3 guaaall Adkiall Aalea 32
graphs of y = x*and y = 2 — x. =2 —x gy = x% suild

1
a. A=j(2—x—xz)dx
(]

b. A=f:(2—y—mdy



1 ] i
ais  e>0adms

Evaluate the Integral [ dx Jalsh dad o

where @ > 0

3. tanix+C c. tan’! (E) +C
b. sin'l(g)ﬁ-c d. cot™! (E)-i—(:



= 3

.13 - - £
Evaluate the integral I4+x+ dx. . f4+x* dx JL\<h dacd 2ol
1 3
= Eln|-l» + x|+ ¢ c. In|x?|+e

b. ln|4+x"|+c d. In|x*| — In|4 + x*| + ¢



Which of the following is
a probability density function (pdf)

on the indicated interval?

a. flx)= —cosx,[O.;]

b. f(x) =x+2x%][01]

3R o (Pdf) Adlaal &30S A (L Laa

C.

d.

olkaaal)

f(x) = sinx, [0, r]

f(x) = 2x%,[0,1]



Find the mean of the random AU Abal gl sadal) augia 2ol

variable with the probability density il A f(x) = 4x3 (pdf) daflaiay)
function (pdf) f(x) = 4x3 on the [0, 1]
interval [0, 1].
3 5
d. 3 2
4 C. 1
4 4
b 3 d =



Find the volume of a pottery jar that

has circular cross sections of
radius (4 - siné) cm, for

0<x<2m.

3. V=65rcm®

b. V=33m*cm?

4l b f hlie 4 a3 €U paa 2o
Jsl .(4— sin;,{)cm S Lial

D=x=2m

c. V=32mrcm?

d. V=(33n*-32m)cm’



ﬂ Find the solution of the differential
equation y’ = 2y satisfying the

initial condition y(1) = 2.

3. y=20e&>*1!

Giag ' = 2y dgdalil dlslaall Y aagl
V(1) = 2 5 byl

d y e 232{1_1}



In terms of A,, A, and A5, identify
the area given by the integral

(4 — x*) dx.

-

Is

A+ A,

alkaaal) a.‘hLuLAl'l PALS -1‘13} Azj Al ;ﬂﬂ..l
JI(4 = x%) dx Jasily




Let R be the region bounded by 3x = 0 dauly dagaaall dlkiall 4 R sl
x:O,y:ixzandy:LWhatls 4&1!P;+diﬁau.y:13y:£x2
the volume of the solid formed by x pall Joa B Ogd e OgSS

revolving R about the x- axis?

2 2 1 2 a 2
a. V=f nr(l)?dx—f rr(—xz) de L v=f (V#7) dy
0 ] 4 0

o
(4—x2+E)—1 dx

b, v= [ n(yi) ay d. v=[n
0 0




Find the solution of the differential
equation y’ = —y satisfying the
initial condition y(1) = 2.

Ghay y' = —y Al Al Sa sy
F(1) = 2 S byl



Identify the integral for the surface
area of the surface of revolution for
the shape described by

y=e* 0 < x < 1, revolved about

the x-axis.

a "n’f e*J1 + e*rdx

1
b §=2 fc'dl-rcz’dx
0

O 555 S Al mhad) Aalucd Sl 21
dP-Oﬁ-Y‘E l*o)':c ‘;)H
X)}M)

C ="nf Jl e**dx

d —rrje\/l+ e* dx



Which of the following Is not ST R IR E T F e bt o
a probabillity density funclion (pdf} L
an the Indicated Interval?

3
£ L A TR |
i fix) = e 2,[0,In4] Flx) = pan|0.2]

; ] ]
b fix}=sinx.[0,7] d  fix) = :t:l-a.l:.l['l.EI



A diver drops from 30 ft abova the
water (about the height

of an Olympic platform dive). What
is the diver's velocity at impact?

(gravitational constant 32 ftfsec?®).

[15
A -32 = ft/sec
. B

gL eld 362 30 Ft gl o el i
2 Lo (s Al B 5t e
*alabay) dlial | ulball doatdd

(32 fr/sec? iudal ol

L A0t sec

g =32 fufaec



Evaluate the Integral [ xsec® xdx. J xsec® xdx Sl dud aagl

& xtanx+c i
L xtanx-— , tanxdx

secs x :
3 d  rtanx + ’ secxdx




In terms of A, A; and A,, Idaniify

the area given by the Integral
Al
Jo (\'y = ;) l‘)‘

2 u"‘ i c":

-~
[+
"

(#

) J-'"u‘"j l'z’ a‘" L\lﬁ

-.’:('.' Y- ;)d.v Sl

Y
A
‘ |
l‘) 03". l/ = & '
2+
ol /2 B ‘:’":'
Ay /’/ =€
i L
() 1 2



Evaluate the Integral [ x®Vx* . 1d. A3V Ldx JASH AAA sy

L 7 » 1 2 1 ~ s 1 »
VG- - +e ¢ G-+ (x*-1)3+c

" f R 1 1 fo =



A force of 51b stretches a spring

4 in from Its natural length, Find the
work done In stretching this spring
6 In beyond Its natural length

(1ft = 12 in).

45
3 W=— ftlb

15
W= —{t-Ib

"~

Ayl a4 in ool 3G 5 1b o i il
A e A Jalall D eyl agtal
L1t = 12 in) ashd Ayl o2 2 6 in

W= 15 ft-lb

(X}

w

I

7.51t-lb



1 a0 amille Labtiall afy pbs alisieals asgile cillslis

_ 434-1 T | "
Evaluate the integral | - dx. B g g T L PR TR
d T L] § |
1 IJ'LE.'I;"' - 1| Inlx| + ¢ : Irll'*r-'— || A
; = 1
s P Fe I|1I.t"'—.t|+ e




r

-h‘la

Evaluate |
A1

3
et e
b
[ -
& Inje x

dx.

b




Find the volume of a pottery jar that A3 A adiie &l FARE oL aaa zag)

has elrcular cross seclions of _:,:.'.{fi + %in EJ CI B ko
radius I[i + ".i]l'l_:;}l.'m. for M=x<in
< x-< IN.

ks = 1
2 ¥ = (330° + 32a) em? L Sanm

s 2 = 32mem?
BV 2A3m: e \ R



|
Evaluate the integral | —— dx, a0 S | ——dx L L sy

¥ omfegd LU |
whera a0 = 0
1 X
| _ g e 1 it
b= cot 1{ B o sin L”;I C
I 1
B ft-ﬂ'l-'l.'!.ll‘: d -11311"{.'{_]1.-1:
i1 i il



Let R be the region bounded by

x -0,y : t*andy = 1. What is

the volume of the solid formed by

revolving R about the y - axis?

v ‘ m(y 4.\'):d_\'

e
v | (Jay) dy

P x 7 0 dady sapiad) Al AR

i
13y -

Yo s R iy om o8

R e



2at-5042 _ A Dasc 2ad-%as2 _ A , BrsC

" rperd YTt (e s . . . - wA AL
o x r  x*] s I LY e

- 2xt-%ael R PN PTY P
what Is the value of [ =—=—Zdx? e dy du

. N ——— B .
Z2injx] - 5tan~*x + ¢ ¢ oInl® 4+ x| +e

'lll.l'l ’ lnl.“ t ” rC 4  5inlx] —2tan " v 4 ¢



Find m if AR M Aad sy
IE:I.‘F = F:Ih:.ti-r_"ﬂhﬂ-rﬂ LT i D ess ||::E:f_._. : j;'ill=.'l"' e
a m =1 < m = 4

| 4 |. o '1
2 m=48 1 m=32



Find g whers 0 < a < E,II S e g e T S gy Aad sy
B | i 33 ! - 1 n
fo LEOS" ¥ —min” ¥ dx = ._I'{I (ron” r—sin”xl e = %
L n
: ‘-‘- v - i iE -
4 i

= |
(=
=
- |



The differantial eqguation

Rt
J,-' =%, £icd, Is separable, Find the
rloy

general solution In an explicd foarm,

i y=Inllnx}+¢

& y=snf(lnx) 4 ]

.I.-|_-|,-.' =

_mmjl = _..Inl. LR e R ]

i gy gl )

& y=sinlInllnx] +¢]

y=sin"Ylnx) 4+ ¢



Find the mean of the random
variable with the probability density
function {pdf) fix] = 3x° on the

interval [0, 1].

o A0 Jplal il dags day

well e fix)

| ==

Ix’ (pdf) ey
10.1]



